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������.�� 
��/
���� 1������� �.���6����0���� �
��0���� 5
������� ��� 0����5� �������������� ���
D��������E� ���0�
��� ��������	�
��
3��0��������/
�� �����

�� ���� ���������� 
��5��5��/� F 8)G�� H�
3��0���������
��5��5�.�
�0�������
���
����������
������� �� ��������	I��� �����/
����� ����.����
��0�����5��./� 3������� ���� �������0� ��������
����
������ ���� ��1��� 1�����0� ������
���� ���� �
3��0��������� ���0������6������� 
�
������� F*8�G�
�� 5
������� �������0������� ��0�����5������ ����
������
���1������ �� �������.����
�������
��5����
0�6����������
�������������/������������0�����5��
��������� 
������� ���
��5�����0�6��������
������
��
������ ����5
�������.'���� ��0�����5�5�������&
��
��.�� 
������ ���0�� ������ 0��5�� �������5��
��
������	I��������6����������.'�	I������0�6&
��
�����1��.�1�����������
��6�����F78(G�

B�2��05����������/
���������/�������.���0����&
�5�������������� 
�����	����
��5����������������
���0���������0����
��/�������0����������������0���
���1����0.����������1����� �����������
��������&
0�����1�
������	I������15�0�������
��������1������
�������������0.�����
��5���/�

*�	���+%,	,%-&%��,.�/	 	&��0�'( ,%'1���, 
��,/��� )	����,�.�2 !	, &�	3�%�4��� +%���)
&'��, ��5

:��� ���
��5����� ����� D��������������� ���
&
����E�����������
���.��������0�������������/�J���K
������������ ����.'�	�� ������� 8� L� M��
��� NO� �
�������/�
���0�����0���0��8� ���I���/�?P�� �����&
����
����0��1������M������0����������0���������
���
Q�����233������.������&�����0�����5����������
��
Mλ� ���O�� ���������� ��0�����5�����O� �� 5��������0�
����������5	I�0
��α&��233�������0�������10���
���
�.��	I�/�������0�����5������56���������5��

�������0�����5�����������L�����0�0�������0����τ���
��
������� �
�.���������τ� ����������
����� 
���5	I�/
3��05���

, ( ) cos exp( )x HB H HB
x

T T T T A m
Rτ − = − µ − τ � 
"�

������
����1�����������1.����.����0�����5�.�

, ,x HB xT Tτ τ− = θ ��� H HB HT T− = θ ; M?O

, cos exp( ).x H
x

A m
Rτθ = θ µ − τ M)O

-�1.���������0�����5�����������
��� τθ ,R  (x = RO

��������� 0,τθ �M��R�"O�����������
��
������
�������

, cos exp( )R H A mτθ = θ µ − τ P 
(�

0, exp( )H A mτθ = θ − τ � 
6�

��3��05����M O�8�M�O�����0����µ ����������
�����:

2 1 12,5(1 2,25 )Bi− −µ = + � 
-�

����Bi�8��������/�,���� ,
1−

λα= RBi �����R �R����������

���I��.����
��5������λ – ��233������� ��������&

�����
���1���������S0�T9;�U�8�����0��������������&

0./����3��05���

2sin

sin cos
A

µ=
µ + µ µ

� 
1�

%����������� ������6�������
��� �
�.�����
����������
����
���5	I�/���
������������
���

 ��V
�����������
��5
���������1.����������������
M��� ��� ��0�0�������0���� τ� R�"O� ��0�����5���������&
��
���θVHB����������θVHQ�

cos��� �� �τθ = θ µ P 
7�

��� �� �τθ = θ � 
.�



���

����
τ� 8� ��233������� 2������0���� ���������0./
�.��6����0�

2( )
1,33exp( ),�

�
�

�
� �

� �
τ

α ⋅= −
⋅ 
"%�

����

�
�8���233��������5���.��	I�/�������0���������

1���������� ����������0�����

�
� R� "�#?�� ���'����&

����������0�����

�
�R�"�!(;��

�
�8�0��5�����������
��

���
��5���/��08 ;��
�
� 8�0�������0����;��� 8� ��
���

��0��������S0)�
?��-
����� ��� ����
��.�� 5
����/� ������10����

������.�� ��233�������0�α�� �� ��/�������� �.'�
���������µ������������
����0���
�.��������

2 1
2

,
a

m 	
R

−= µ � 
""�

������8���233���������0�����5����������
���1������
�?���

)��B�����6�������
��� �
�.������ ��������
��
τ
�����

����5
�����/���1.�����/���������/���0�����5�.
��������
���θ

	��
� ��� �������/� �������/�θ



�����&

������
�����3��05���

.
ln ln1

ln ��� ��� �

�� 


�m m

θ θ − θ
τ = =

θ � 
"&�

B�����6�������
��� �
�.������ ������� τ������ ��
5
�����/���1.�����/���������/���0�����5�.�������
θVHQ� ��� �������/� �������/� θ�� ����������
�� ��
3��05���

.

ln ln1
ln ��� ��� �


�� �
�m m

θ θ − θ
τ = =

θ � 
"'�

*��9���������1.���������0�����5�����������
��
������0���
�.������θ��
��
�
������

[ ]. .
.

1 exp( )���

 �� 
�� 



�� 


m
m

θ
θ = − − ⋅ τ

⋅ τ � 
"(�

9���������1.���������0�����5����������������0�
�
�.������θ��
��
�
������

. .
.

1 exp( )���
� �� 
�� �


�� �

m
�

θ
 θ = − − τ ⋅ τ � 
"6�

���B����/�����/�������6�������
����
�.�����
τ������ ��τ�������� 
�����/� �����������
�.������ ��0��&
���5��� ��������
��� ���
�� �� 
�����/� ��� ������
�
�.��������0�����5�������������
��

. .
 �� 
 �� ��� �= θ + � 
"-�

. .� �� � �� ��� �= θ + 
"1�

��� 
������
��5	I�0� ���3���0�����������
�� ����&

��������� ������
��� 1������ �� ��������
��.�� �
���������.�����������1��������0���0�0���5���
��&
6�������0�����5�.����

B��0�����
������
�.���������
��5���������
D������������������
����E

6�0�+��	���15��
����

�������������6�������
��
�
�.������������R�"�

�9�����1����5	���2��05�0�0���5
����
������5	�������
���1����������������
��.���
���������.�� 
����������6����/� 
������ ���I���/
?P�R� "�*�0����� 
���5	I���5
�������� ��0�����5��
1������� 5��6������� �� ���
��5���	� ��� R� ("�

�9;
��0�����5������56���������5�������R�8 "�

�9;�1����
+)""��������������������������0�����0�����*""����
��
����� )""� ��S0);� ��233������� �������������
��
1������λ�R� �)���S0�9����0�����5����������
�����R
??W "8*�0?S�;� ��233������� ������10��������6�����
α�R�����S0?��9�

�%7%� %�
 ��-�1.����.����0�����5�.����M?O�

θ��R����8�����R�("�8�M8 "O�R�!"�
�9;

θ��R����8�����R�"�8�M8 "O�R� "�
�9�

?��+��5�����������
������
��5�����+��

2
1

3

2
5,0

0,4
�

�
� �

�

−= = �

)��X�
���Bi�����������.��5
����/�M��
'�3�����

��M7OO�

1 15 0, 2 1,3 0,77Bi R − −= α λ = ⋅ ⋅ = �

*��B���0����µ ��
������
�����
�M7O�

2 1 12,5(1 2, 25 ) 2,5(1 2, 25 0,77 ) 0,63;

0,79.

Bi− −µ = + = + ⋅ =
µ =

���B���0����U���
������
�����
�M#O�

2sin 2sin 0,79
1,08

sin cos 0,79 sin 0,79 cos0,79
A

µ= = =
µ + µ µ + ⋅ �

7����233������� 2������0����τ �� 
������
�����

M "O�

2

2

( )
1,33exp 0,72

(5 5,0)
1,33exp 0,72 1,32.

300 400

�M
K

� ��
τ

 α ⋅= − = ⋅  
 ⋅− = ⋅ 
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���

#��-�1.������� 5
����������������� ��0�����5��
��������
���θVHB����M(O�

o

cos

1,32 90 1,08 cos 0,79 90,3 C.

��� �K Aτθ = θ µ =

⋅ ⋅ ⋅ =
(����0���
�.������������������
�����M  O�

4
2

2 2

22 10
0,63 0,0346

0,2

a
m

R

−⋅= µ = = ��–1.

!��B�����6�������
��� �
�.������ ��������
��
τ�����������0�����5�.�θ������������
�����M ?O�

.
ln ln ln 90,3 ln10

63,6
0,0346

��� �

�� 
 m

θ − θ −τ = = = ���

B�����6�������
��� �
�.������ ������� τ������ ��
��0�����5�.�θ������������
�����M )O�

.

ln ln ln128,3 ln10
73,8

0,0346
��� �


�� � m

θ − θ −τ = = = ���

 "�� 9������� ��0�����5��� ��������
��� ���
�� ��
���0���
�.����������������
�����M *O���M 7O�

[ ]

[ ]

. .
.

1 exp( )

90,3
1 exp( 0,0346 63,6) 36,5 C.

0,0346 63,6

���

 �� 
�� 



�� 


m
�

θ
θ = − − ⋅ τ =

⋅ τ

− − ⋅ = °
⋅

. . 36,5 ( 10) 26,5 C.
 �� 
 �� ��� �= θ + = + − = °

9���������0�����5�����������
����������0���
�.&
����������������
�����M �O���M #O�

[ ]

. .
.

1 exp( )

128,3
1 exp( 0,0346 73,8) 46,3 C.

0,0346 73,8

���
� �� 
�� �


�� �

m
�

θ
 θ = − − ⋅ τ = ⋅ τ

− − ⋅ = °
⋅

. . 46,3 ( 10) 36,3� �� � �� ��� �= θ + = + − = �T9�

  ��9����
�������
��.0����3���0�1�����+)""����
��0�����5��� ?7���9� ��� ���0�� 7)�7� �� ����1������
����
������5	�������
��������������]�M������
��
1��������������
��.�����O;�������0�����5���)7�)�9
������0��#)�(���8�������#�]�M������
������������.�
���O�

 ?��@
�����������&��1�������������
����
��1��&
6���/� ���15��
�� ����������� ��0�����5�5� � ������&
��
������������������0�������?*&0���
5���
���������
�
�.����������
��
�����������0�M ?O8M )O���M 7O8M #O
��������

o
, 24 90,3exp( 0,0346 24) 39,4 C;
 τ=θ = − ⋅ =

 o
, 24 39,4 ( 10) 29,4 Cn� τ= = + − = P

o
, 24 128,3exp( 0,0346 24) 55,9 C;� τ=θ = − ⋅ =

o
, 24 55,9 ( 10) 45,9 C.�� τ= = + − =

8�	���+%,	,%-&%��,.�/	 	&��0�'( ,%'1���, 
��,/��� )	����,�.�2 !	, &�	3&��,)(%���4�
&�)-�.4�'1��4�	#�.��5

B�������0�D�����6����������0�5���������1�5
�E
����0�	�
�����
��5����������������0�����/������.�
J�M�.
����������O�������������1���'����6����������5�
��5������0�����/�̂ ���K�M��
���YO����L���K��0�	������
��������

9� ���0������
��/� ������ ������� �����6���./
���0�5�����./� 1�5
� 
������0� ?P W?P?� ��

0��&
������
���������5����������
��������������0.0�5���0
��5��������������.�����
��������
���.����I���/
?P ������
���.����I���/�?P?�

9� �����3�����
��/� ������ ������� ��0�����5����
����������6������� 1�5
�� ����������
�� ���� �����&
�������� ��0�����5��.�� ��233��������� M��0����&

�5��./���233�������R� cos exp( )
x

A m
R

µ − τ O�
�
�����&

	I���2����1�5
����
����
������
�����������������


������.0������������0��

���� ���� 5
������ ������10����� ���������0.�
1Bi R −= α λ �� 5� 
�
������ �����/� 15�5�� �������.0�

M�
���R1≠R2O����������/�15������������6�������
��

�
�.��������6��/�����������������/���0�����5�.�

:��� ���
��5����� ����� D�����6������� ���0�&
5��������� 1�5
�E�� �������/� 
���0�� ���0���0�

������� ?P W?P?�� ���������
����0�� 1������ M���
��0����������0���������
����Q����233������.������&
�� ��0�����5����������
��� Mλ� �� �O�� ���������� ��0&
�����5�����O���5��������0������������5	I�0
��α� &
��233�������0� ������10���� �� �
�.��	I�/� ���
��0�����5������56����� ����5�������� ��0�����5��� �
������ L�� K� �� �� 0�0���� ���0���� τ� ��
��� ������
�
�.���������[�3�����������
�����
���5	I�/�3��05���

1 2 1 2

, ,

0
1 2

( ) cos cos exp( )

x y HB

H HB R R R R

T T

x y
T T A A m a

R R

τ − =

− µ µ − τ


"7�

������
����1�����������1.����.����0�����5�.�



���

, , , ,� � �� � �� �τ τ− = θ P� H HB HT T− = θ P 
".�

1 2 1 2, , 0
1 2

cos cos exp( )x y H R R R R
x y

A A m a
R Rτθ = θ µ µ − τ �


&%�

��������0���.�NP_� ��µP_� �����0�	�
�� ��6�./����
D
���/E����
���.�

-�1.���������0�����5�����������
���P �M`�R�P �
[�R�"O�8�θP �τ����1.���������0�����5�����������
��
P?�M`�R�"��[�R�P?O�8�θP?�τ����1.���������0�����5���5���
M`�R�P ��[�R�P?O�8�θP �P?�τ�����1.���������0�����5��
������� 
������� M��R�"�� 5�R�"O� 8�θ�τ� ��������	�
�� 

5����0�M?"O�
������
�������

1 1 2 1, 0cos exp( )R H R R RA A m aτθ = θ µ − τ � 
&"�

2 1 2 2, 0cos exp( )R H R R RA A m aτθ = θ µ − τ � 
&&�

1 2 1 2 1 2, , 0cos cos exp( )R R H R R R RA A m aτθ = θ µ µ − τ �


&'�

1 2, 0exp( )� � � �A A m aτθ = θ − τ � 
&(�

��
������
�����
�0�������/���
���������0�����
���� D�������������/� ���
���.E� ���� ��6��/� ��
���
����?P ���?P?��������
����
������������0���.�0P

�� NP�� 0��5��� ��������
��� +BP�� ��233������
2������0��� �τP�� �1I��� ���� 1�5
�� ��1.����.�
��0�����5�.�θH���θ������0���
�.��������

��0���
�.����������������
���.��6����0�

1 2

2 2

0 2 2
1 2

.
R R

m m a a
R R

 µ µ = = + 
  


&6�

:�����������������
���^�R�P ����������
���K�R
P?��5���������������������	�
��

8���1.����.��5
����.���������.����0�����5�.
θVHP_�

1 2 cos���� � ��k A Aτθ = θ µ � 
&-�

8� ������6�������
��� �
�.������ τP_� ��� ��0&
�����5�.�θ��

ln ln���� �
Ri m

θ − θ
τ = � 
&1�

8�
���������1.���������0�����5���θ
��P_�������0�
�
�.������

( ). 1 exp����
�� �� ��

Ri

m
m

θ
θ = − − τ  ⋅ τ � 
&7�
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3

2
2,5 ;

0,8
�

�
� �

�

−= =

1

1 15 1,3 0, 4 1,54RBi R− −= αλ = ⋅ ⋅ = �

( )1

12 1

1 1
1

2,5 1 2,25

2,5(1 2,25 1,54 ) 1,01; 1,0;

R

R

Bi
−−

− −

µ = + =

+ ⋅ = µ =

1

1

1 1 1

2sin 2sin1,0
1,15

sin cos 1,0 sin1,0 cos1,0
R

R
R R R

A
µ

= = =
µ + µ µ + ⋅ P

( )
1

2
5 2,5

1,33 0,72 1,32
300 400R

Kτ

 ⋅
 = − =
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� �

�

−= =

2

1 15 1,3 0, 2 0,77RBi R− −= αλ = ⋅ ⋅ = P

( )2

112,5 1 2,25 0,77 0,63R

−−µ = + ⋅ = P�� 2 0,79Rµ = P

2

2sin 0,79
1,08

0,79 sin 0,79cos0,79RA = =
+ P
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1 2

2 2

2 2
1 2

2 2
4

2 2

1,0 0,79
22 10 0,048.

0, 4 0, 2

R R
m a

R R

−

 µ µ
 = + =
  

 
+ ⋅ =   

*��V
���������1.�������������������0�����5�����
M?7O�

1

o1,32 90 1,15 1,08 cos1,0 79,7 C;���θ = ⋅ ⋅ ⋅ ⋅ =

2

o1,32 90 1,15 1,08 cos 0,79 104 C;���θ = ⋅ ⋅ ⋅ ⋅ =

1 2

o1,32 90 1,15 1,08 cos1,0 cos 0,79 56,2 C;��� �θ = ⋅ ⋅ ⋅ ⋅ ⋅ =

o1,32 90 1,15 1,08 147,6 C.���θ = ⋅ ⋅ ⋅ =

��� B�����6�������
��� �
�.������ τP_� ��� θ�

���������
�����M?#O�

1

ln 79,7 ln10
43,6

0,048R
−τ = = ��;

2

ln104 ln10
48,8

0,048R
−τ = = �;

1 2

ln 56,2 ln10
36

0,048R R
−τ = = ��;

ln147,6 ln10
56,1

0,048�

−τ = = ���

7��9���������1.����.����0�����5�.�θ
��P_�������0�
�
�.��������������	�
�����M?(O�

[ ]
1

o
.

79,7
1 exp( 0,048 43,6) 33,6 C;

0,048 43,6�� �θ = − − ⋅ =
⋅

[ ]
2

o
.

104
1 exp( 0,048 48,8) 40 C;

0,048 48,8�� �θ = − − ⋅ =
⋅

[ ]
1 2

o
.

56,2
1 exp( 0,048 36) 26,7 C;

0,048 36�� � �θ = − − ⋅ =
⋅

[ ] o
.

147,6
1 exp( 0,048 56,1) 51,1 C.

0,048 56,1�� �θ = − − ⋅ =
⋅

#��9���������0�����5�.�aP_�
�
������

1 1

o
. . 33,6 ( 10) 23,6 C;�� � �� � ��T T= θ + = + − =

2 2

o
. . 40 ( 10) 30 C;�� � �� � ��T T= θ + = + − =

1 2 1 2

o
. . 26,7 ( 10) 16,7 C;�� � � �� � � ��T T= θ + = + − =

. . 51,1 ( 10) 41,1 °C.�� � �� � ��T T= θ + = + − =

(������0��1����0�� 1����������������
�����R�P 
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��233������� R� cos exp( ))
x

A m
R

µ − τ 
�
�����	I��

2���� ��������������� ���
���� 
������
������� ���

�������������.��
���0������������0��

���� ���� 5
������ ������10����� ���������0.�
1Bi R −= α λ �� 5� 
�
������ �����/� 15�5�� �������.0�

M�
���R1≠R2≠R3O�� ��������/�15������������6�����&
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����
�.��������6��/� ��������� �������/� ��0��&

���5�.�

:������
��5����������D���0�5�����./��������&
�������E�� �������/� 
���0�����0���0��?P W?P?W?P)�
���������
����0��1������ M������0������ ����0������
��
����Q�� ��233������.� �����&� �� ��0�����5��&
��������
��� Mλ� �� �O�� ���������� ��0�����5�����O� �
5��������0�� ����������5	I�0
��α&��233�������0
������10�������
�.��	I�/�������0�����5������56&
���������5����������0�����5�����������L��K��J���0�0���
���0����τ���
�����������
�.���������[�\�τ�����������
�
���
���5	I�/�3��05���

1 2 3

1 2 3

, , ,

0
1 2 3

( ) ·

cos cos cos exp( )

x y z HB H HB R R R

R R R

T T T T A A A

x y z
m a

R R R

τ − = −

µ µ µ ⋅ − τ 
&.�
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�����1����������1.����.����0�����5�.�

, , , , , ,x y z HB x y zT Tτ τ− = θ P�����
�
����

��
 = θ

��
; (30)

1 2 3 1

2 3

, , ,
1

0
2 3

cos ·

cos cos exp( ),

x y z H R R R R

R R

x
A A A

R

y z
m a

R R

τθ = θ µ

µ µ ⋅ − τ (31)
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�������� ��
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���� ���������������� 
�������� ��������
���P 

M`�R�P ��[�R�"��\�R�"O�8�θP ,τ����������
���P?�M`�R�"��[�R
P?��\�R�"O�8�θP?�τ��5����M`�R�P ��[�R�P?��\�R�"O�8�θP �P?�τ��
�������
�������M��R�"��5�R�"��\�R�"O�8�θ�τ�������6��������
�����0���� ������/� �����������������������������&
��
���P \�M`�R�P ��[�R�"��\�R�P)O�8��θP�\�τ����������
��
P?\�M`�R�"��[�R�P?��\�R�P)O�8�θP?\τ��5����M`�R�P ��[�R�P?�
\�R�P)O�8�θP P?P)����������
�������M`�R�"��[�R�"��\�R�P)O
8�θ�\����������	�
��
�5����0�M) O�
������
�������

1 1 2 3 1, 0cos exp( )R H R R R RA A A m aτθ = θ µ − τ P 
'&�

2 1 2 3 2, 0cos exp( )R H R R R RA A A m aτθ = θ µ − τ P 
''�

1 2 1 2 3 1 2 0cos cos exp( )R R H R R R R RA A A m aτθ = θ µ µ − τ P 
'(�

1 2 3 0exp( )� � � � �A A A m aτθ = θ − τ P 
'6�

( )
1 1 2 3 1 3 0cos cos expR z H R R R R RA A A mτθ = θ µ µ − ατ P 
'-�

2 1 2 3 2 3 0cos cos exp( )R z H R R R R RA A A m aτθ = θ µ µ − τ P 
'1�

( )
1 2 3 1 2 3 1 2 3

0

cos cos cos

exp ;

R R R H R R R R R RA A A

m

θ = θ µ µ µ

− ατ 
'7�

1 2 3 3 0cos exp( )�� � � � � �A A A m aθ = θ µ − τ � 
'.�
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RR R
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µµ µ 
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��

8�5
���������1.�������������������0�����5������
τ�R�"�

1 2 3 cos���� � ��k A A Aτθ = θ µ P 
("�

8� ������6�������
��� �
�.������ τP_� ��� ��0��&
���5�.�θ��

ln ln���� �
Ri m

θ − θ
τ = P 
(&�

8�
���������1.���������0�����5���θ
��P_�������0�
�
�.������

( ). 1 exp����
�� �� ��

Ri

m
m

θ
θ = − − ⋅ τ  ⋅ τ � 
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3

2
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0,8
�

�
� �

�

−= =

1

1 15 0, 4 1,3 1,54RBi R − −= α λ = ⋅ ⋅ = P

( )
( )

1

12 1

11
1

2,5 1 2, 25

2,5 1 2, 25 1,54 1,01; 1,0;

R

R

Bi
−−

−−

µ = + =

+ ⋅ = µ =

1

1

1 1 1

2sin 2sin1,0
1,15

sin cos 1,0 sin1,0 cos1,0
R

R
R R R

A
µ

= = =
µ + µ µ + ⋅ P

( )2
5 2,5

1,33 0,72 1,32
300 400

Kτ

 ⋅
 = − =

⋅  
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2
1

3

2
5
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�
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�

−= = P

2

1 15 0, 2 1,3 0,77RBi R − −= α λ = ⋅ ⋅ = P
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( )
( )

2

12 1

11
2

2,5 1 2, 25

2,5 1 2, 25 0,77 0,63; 0,79;

R

R

Bi
−−

−−

µ = + =

+ ⋅ = µ =

2

2sin 0,79
1,08;

0,79 sin 0,79 cos0,79RA = =
+ ⋅

( )
2

2
5 5

1,33 0,72 1,32.
300 400RKτ

 ⋅
 = − =

⋅  

)�� :��� ������.�� 5
����/� ���0���������� �
���
�����?P)�R� �7�0�

2
1

3

2
1,25

1,6
�

�
� �

�

−= = P

3

1 15 0,8 1,3 3,08RBi R − −= α λ = ⋅ ⋅ = P

( )
3

12 12,5 1 2, 25 3,08 1, 44
R

−−µ = + ⋅ = P�
3

1,2Rµ = P

3

2sin1,2
1,21;

1,2 sin1,2 cos1,2RA = =
+ ⋅

( )
3

2
5 1,25

1,33 0,72 1,32
300 400RKτ

 ⋅
 = − =

⋅  
�

*��:����1�������
����

θ��R�("�8�M8 "O�R�!"�
�9;���θ��R�"�8�M8 "O�R� "�

�9�

��0���
�.����������
������
�����
�M*"O�

31 2

22 2

2 2 2
1 2 3

2 2 2
4

2 2 2

1,0 0,79 1,2
22 10 0,053.

0,4 0,2 0,8

RR R
m a

R R R

−

 µµ µ
 = + + =
  

 
+ + ⋅ =   

����.��
���0�5
����.����1.����.���������.�

��0�����5�.����M* O�

1

o1,32 90 1,15 1,08 1, 21 cos1,0 96,4 C;���θ = ⋅ ⋅ ⋅ ⋅ ⋅ =

2

o1,32 90 1,15 1,08 1, 21 cos 0,79 125,8 C;���θ = ⋅ ⋅ ⋅ ⋅ ⋅ =

1 2

o

1,32 90 1,15 1,08 1,21 cos1,0 cos0,79

68 C;

��� �θ = ⋅ ⋅ ⋅ ⋅ ⋅ ⋅ =

o1,32 90 1,15 1,08 1,21 178,6 C;���θ = ⋅ ⋅ ⋅ ⋅ =

1

o

1,32 90 1,15 1,08 1,21 cos1,0 cos1,2

34,7 C;

��� �θ = ⋅ ⋅ ⋅ ⋅ ⋅ ⋅ =

2

o

1,32 90 1,15 1,08 1,21 cos 0,79 cos1, 2

45,0 C;

��� �θ = ⋅ ⋅ ⋅ ⋅ ⋅ ⋅ =

1 2 3

o

1,32 90 1,15 1,08 1, 21 cos1,0 cos 0,79

cos1,2 24,3 C;

��� � �θ = ⋅ ⋅ ⋅ ⋅ ⋅ ⋅ ⋅

=

o1,32 90 1,15 1,08 1,21 cos1,2 64,3 C.����θ = ⋅ ⋅ ⋅ ⋅ ⋅ =

7��B�����6�������
����
�.������τP_����θ������&
������
�����M*?O�

1

ln 96,4 ln10
42,7

0,053R
−τ = = ��;

2

ln125,8 ln10
47,7

0,053R
−τ = =  �;

1 2

ln 68 ln10
36,2

0,053R R
−τ = = ��;

ln178,6 ln10
54,4

0,053�

−τ = = ��;

1

ln 34,7 ln10
23,5

0,053R Z
−τ = = ��;

2

ln 45,0 ln10
28,4

0,053R Z
−τ = = ��;

1 2 3

ln 24,3 ln10
16,8

0,053R R R
−τ = = ��;

ln 64,3 ln10
35,1

0,053��

−τ = = ���

#��9���������1.���������0�����5���θ
��P_�������0�
�
�.����������������
�����M*)O�

[ ]
1

o
.

96,4
1 exp( 0,053 42,7) 38,1 C;

0,053 42,7�� �θ = − − ⋅ =
⋅

[ ]
2

o
.

125,8
1 exp( 0,053 47,7) 45,8 C;

0,053 47,7�� �θ = − − ⋅ =
⋅

[ ]
1 2

o
.

68
1 exp( 0,053 36,2) 30,2 C;

0,053 36,2�� � �θ = − − ⋅ =
⋅

[ ] o
.

178,6
1 exp( 0,053 54,4) 58,5 C;

0,053 54,4�� �θ = − − ⋅ =
⋅



���

[ ]
1

o
.

34,7
1 exp( 0,053 23,5) 19,8 C;

0,053 23,5�� � �θ = − − ⋅ =
⋅

[ ]
2

o
.

45,0
1 exp( 0,053 28,4) 23,2 C;

0,053 28,4�� � �θ = − − ⋅ =
⋅

[ ]
1 2 3

o
.

24,3
1 exp( 0,053 16,8) 16,1 C;

0,053 16,8�� � � �θ = − − ⋅ =
⋅

[ ] o
.

64,3
1 exp( 0,053 35,1) 28,2 C.

0,053 35,1�� ��θ = − − ⋅ =
⋅

(��9���������0�����5�.�
�
�����	��

1 1

�
. . 38,1 ( 10) 28,1 ���� � �� � ��� �= θ + = + − =

2 2

�
. . 45,8 ( 10) 35,8 ���� � �� � ��� �= θ + = + − =

1 2 1 2

�
. . 30, 2 ( 10) 20,2 ���� � � �� � � ��� �= θ + = + − =

�
. . 58,5 ( 10) 48,5 ���� � �� � ��� �= θ + = + − =

1 1

�
. . 19,8 ( 10) 9,8 ���� � � �� � � ��� �= θ + = + − =

2 2

�
. . 23, 2 ( 10) 13,2 ���� � � �� � � ��� �= θ + = + − =

1 2 3 1 2

�
. . 16,1 ( 10) 6,1 ���� � � � �� � � � ��� �= θ + = + − =

�
. . 29, 2 ( 10) 19,2 ���� �� �� �� ��� �= θ + = + − =

:�	����, +%�� %	&� %-/	�&�%0%'%� )
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"�	�&�%0%'%� %	&��0�'( ,%'1���, 	��,/��� )
&�	;�-%�%���!	,%-&%��,.�%	2%�,��	 	&��%�<���, 
����,�.�2  	, &�	3�%�4��� +%���)	&'��, ��5�

H�� ������ ��0� ������  "� ��
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��� ������
�
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����0��.���0�����5�.�������
��� �� ��0�����5�.� ��������
��� ��� �
�.��	I�/
���
��5������ 9� 5����0� ��0�����5�.� ���56����
����5�����������	�
��θ��R����8�������θ��R����8�������-�

�����'���/�M*O���M�O�
���5��������θ��R�θ��d4eµ �����5��
�.��
����
��d4eµ ��������0���µ �

c������0�����5����������
���1�������������0��.
���
��5���������
�5����0���/��������µ ���

���.&
����
�� ��0���
�.�������� ��� �
�����3��05�.� M  O�
V
�����������
�� ��0�����5��� ��������
�������� ��

��
��6����� ������/� ��� ��0�����5�.���� ���15��
�
�����������������6�������
���τ�����������
������
&
�������θ���R����� 8������:�������� M ?O� ����������
�
������6�������
����
�.������τ���������M #O�
������
��0�����5�����������
������
���������0���
�.��������
��0�����5�.���� ��� ��0�����5�.�����B�� 2��0���50
����������0�8����
�����τ����8��5
�����������
����1������
��� 2�������������������� ����
�������/�������
��
1������

�� -%�	���+%,��	��1������/�
���������I���/�?P
R�"�7�0�M��0�����5����������
���1��������R�??W "8*

0?S�O���������
���������
�����
�����������
�.�����
����������.� ��0��.� ��0�����5�.� ������� ��� �
��0�����5�.���������
������������5����������5����
���R�7"�

�9������R�*"�
�9�����15��
����

������������

������ ���0�� ��0�����5��� ��������
��� ��
������
��0�����5�.����� R� ��

�9�� ��0�����5��� ���56����
����5�������R�8 "�

�9�

"�� �40 ( 10) 50 ��� � ��� �θ = − = − − =
�60 ( 10) 70 ��� � ��� �θ = − = − − =

�5 ( 10) 15 ���� � ��� �θ = − = − − =

?��-��
�����'�����θ��R�θ��d4e�µ �������0�d4e�µ ��
µ �

1
50

cos 0,714;
70

�

�

θµ = = =
θ �� 1 0,775.µ =

)��-��
�����'������ 2 2
1m aR−= −µ ����������0���0�

�
�.������

��R�8"�##�?W??W "8*W"�)8?�R�8"�" *#�
*��%���������
�� ������6�������
��� �
�.�����

τ���

ln ln ln15 ln 50
82

0,0147
�� �

�� m

θ − θ −τ = = =
− ���
��

*�	�&�%0%'%� %	&��0�'( ,%'1���, 	��,/��� )
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�� ��0��.� ��0�����5�.� ������� ��� �
��0�����5�.���������
����P ����P?��-��
�����'���/
M? O���M??O���
�5����0�θ��R����8�������θP �R��P �8����

5
�����������
���θP �R�θ��d4e�µP �������
�����'���/
M??O���M?*O���
�5����0�θP?�R��P?�8�����5
�����������
�
θP?�R�θ��d4e�µP?�����5����.��
����
��
�������d4e�µP ��
d4e�µP?��������0���µP ���µP?�

B�����5����.0���������0�µP ���µP?�������
��.0
�
��

�
����

�
� �������
����� M?�O� ��0���
�.���������B�

M?#O���

���.����
��������6�������
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�������/���0�����5�.���� M
������
�������θ��R����8
���O���������
�����������

�� -%�	���+%,��	��1������/��������� 
������0
?P W?P?������?P �R�"�(�0���?P?�R�"�*�0���������
������
��
�����
�����������
�.����������������.� ��0��.
��0�����5�.������������5����������
��/�����R�7 �!b

�9;
�P �R�?(�(�

�9����P?�R�*"�7�
�9�����15��
����

������

���������������0����0�����5�����������
��/���
���&
������0�����5�.����R���

�9����0�����5������56����
����5�������R�8 "�

�9����0�����5����������
���1�����
��R�??W "8*�0?S��

"� �61,9 ( 10) 71,9 ��� � ��� �θ = − = − − =

1 1

�28,8 ( 10) 38,8 ��R R ��� �θ = − = − − =

2 2

�40,6 ( 10) 50,6 ��R R ��� �θ = − = − − =

�5 ( 10) 15 ��� � ��� �θ = − = − − =

?��-��
�����'�����θP �R�θ��d4e�µP �������0�d4ebµP 

��µP �

1

38,8
cos 0,54;

71,9Rµ = = ��
1

1,0.Rµ =

)��-��
�����'�����θP?�R�θ��d4e�µP?�������0�d4ebµP?

��µP?�

2

50,6
cos 0,70;

71,9Rµ = = ��
2

0,79.Rµ =

*��B��M?�  *O�������0���0���
�.��������

1 2

2 2

2 2
1 2

4
2 2

1 0,79
22 10 0,048.

0,4 0,2

R R
m a

R R

−

 µ µ = − + =   
 

− + ⋅ ⋅ = − 
 

���B��M?�  7O���M?�  #O����������0�������6�����&
��
����
�.���������f���9���������
���P �

1

1

ln ln ln 38,8 ln15
19,8

0,048
R �

R m

θ − θ −τ = = = �

����������
���P?�

2

2

ln ln ln 50,6 ln15
25,3.

0,048
R �

R m

θ − θ −τ = = =

8�	�&�%0%'%� %	,%-&�	��,/��� )	&�	0�.-	&��'%=
0���,%'1�/-	;�-%��-	,%-&%��,.�/	&��%�<���, �
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���������
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��
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����@
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��0�����5�.� 
�
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��0���0�� τ�� ������� ��0�����5������56���������5��
������0���
�.������
�
��������

1 2 1 2
ln ln ln( ) ln( )

.
HB HBT T T T

m
τ τ τ τθ − θ − − −

= =
τ τ

H�/������� ����������� ��������� ����������
������6�������
����
�.������ τ���� ��������� ��0��&
���5�.� �τ?� ��� ��0�����5�.� ��� Mθ�� R� ��� 8� ���O�

2
ln ln k


�� m
τθ − θ

τ = �

�� -%�	���+%,��� c�0��.� ��0�����5�.��� ����/
��������������
����
������.������������
����������
&
�����5����������
���5	I������5�����.���τ �R��"b
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�9����0�����5������56���������5�������R
8 "� �9��H�/���������6�������
��� �
�.������ 2��/
�����������0�����5�.����R�"�

�9�

"��
1

�50 ( 10) 60 ��τθ = − − =

2

�45, 2 ( 10) 55,2 ��τθ = − − =

�0 ( 10) 10 ���θ = − − =

?��%�������0���0���
�.������

�
ln 60 ln 55, 2

0,0167.
5

m
−= =

)��%�������0�������6�������
��� �
�.��������
*��?��9����"��9�

ln 55,2 ln10
102

0,0167
��

−τ = = ���

6��'>+%� %
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�����
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g �
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